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3_7_4_again.nb

a=5;

h=4;

Plot[{x-x"2, hxx/ (x+a)}, {x,0, 1.5}]

NSolve[x=-x"2==ch=*x/ (x+a), x]

Plot[{x-x"2-(hxx/(x+a)}}, {x,-4.5, 1}, PlotRange- {-7, 0.4}]

0.25¢

-0.25¢}

=0.5¢}

-0.75

« Graphics =

{{X--4.23607}, {x—0.236068}, {x-0.}}

- Graphics =

Here we have 3 total real fixed points__—,Jwith only 2 existing forxz O. '




3 7 4 _againnb

a=0.5;

h=1;

Plot[{x=-x"2, h+x/(x+a}}, {x, 0, 1.5}]
NSolve[x-~x~“2==h*x/ (X+a), %]
Plot[{x=-x"2- (h*x/ (x+a))}, {%,0, 1.5}]

.2}

-0.2+

- Graphics -

({x->0.25+0.661438 4}, {x—>0.25-0.6614381i}, {x>0.}}

- Graphics -

We have only 1 Real fixed point, x=10.




3.7 4_againnb

a=0.1;

h=0.25;

Plot[{x-x"2, h*xx/ (x+a)}, {x,0, 1.5}]

NSolvel[x-x"2==h*x/ (x+a), x]

Plot[{x-%x"2- (h+*x/ (x+a))}, {%, -0.5, 1} , PlotRange - {-0.5, 0.5}]

0.2}
0.1}
0.2 0.4 0.6 0.8 T 1.2 1.4
~0.1
- Graphics =

{{x-0.679129}, {x > 0.220871}, {x - 0.)}}

9% [a%
g.
--0,.4 =0.2 "O.Af——fﬂ__ll—:;;:\ IB lﬁ. X

- Graphics - : !
i

Here you have 3 fixed points all of whichare z 0
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